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s | 2K 7 A
f5) T —TH 822 1,696 846 850
J5) T —TH 522 1,222 604 618
J5) T =TH 740 1,601 834 767
%k /N % % 2,084 4,519 2,284 2,235
aPm —TH 1,205 2,479 1,205 1,274
F=aalii| —TH 1,147 2,214 1,058 1,156
AEm ZTH 1,300 2,632 1,296 1,336
F=aalii| Lt E| 821 1,945 971 974
x %k  /NE % %k 4,473 9,270 4,530 4,740
Feyars —TH 942 1,896 898 998
Feyars —TH 825 1,650 798 852
Feyars =TH 1,632 2,933 1,375 1,558
Feyars T A 1,055 1,752 871 881
%k /pNE % % 4,454 8,231 3,942 4,289
HEF)I] —TH 972 1,965 975 990
HEF)1] —TH 671 1,600 804 796
HEF) 1] =TH 1,140 2,531 1,229 1,302
HEF)1] T HE 935 2,002 991 1,011
%k /hE %k %k 3,718 8,098 3,999 4,099
[EEsIl —TH 864 1,844 907 937
[EEsIl ~TH 720 1,605 743 862
PEER)I| =TH 364 836 386 450
PEER)I| T HE 1,364 2,877 1,440 1,437
ks  /NEF % %k 3,312 7,162 3,476 3,686
* k 2EAE * % 41,518 81,771 39,708 42,063

. A0
T | Bk 7 Z
FORAHT  —TH 2,886 6,085 2,843 3,242
FIRARRT  —TH 717 1,496 727 769
FIRARRT  =TH 1,161 2,572 1,256 1,316
FOIRAHT YT H 2,140 3,710 1,614 2,096
%k PE Ok ok 6,904 13,863 6,440 7,423
HFm R —TH 1,094 1,969 979 990
WD IR —TH 969 1,973 983 990
WD IR =TH 1,428 2,816 1,367 1,449
HFn R I HE 660 1,444 711 733
HHFNIR T H 1,813 3,634 1,834 1,800
* %k pE k% 5,964 11,836 5,874 5,962
[ERSIEN —TH 796 1,196 601 595
[ERSIEN —TH 500 970 440 530
* k%  /pE k% 1,296 2,166 1,041 1,125
JEFIR —TH 724 1,173 548 625
JLFNIR —TH 760 1,519 746 773
JLFNIR =TH 556 877 447 430
* sk /PNEF ko 2,040 3,569 1,741 1,828
FOFNIR —TH 1,911 3,004 1,382 1,622
FOFNIR —TH 715 1,195 579 616
FOFNIR =TH 941 1,689 802 887
FOFnIR T HE 382 590 290 300
%k pE k% 3,949 6,478 3,053 3,425
Ll —TH 580 1,103 572 531
Ll ~TH 735 1,532 780 752
Ll =TH 1,412 2,719 1,362 1,357
Ll WTH 597 1,225 614 611
%k pE k% 3,324 6,579 3,328 3,251




